MS-Word 2010

3EHl. AEQ

(Q 25







[EIE-[EEEE

M EH

%101

7| <Ctrl+X>

<2047|>

o

o Qof N 122 22

=l
L QER

S aIstL| L},

=

LI




=}
0
i
il
mju
S
+
. " &
[ = =
) ™
r Ik w
_._.__._._ E\_/_._._ L_._
ojn O _n__._
flo = T
80 O <
=3 ~ 1
r ™ -
— m_hﬂ _._._=._
=) L i[=
]3] H [y =
u —
M — ol —
— N ml ~N
o CLL! o .
— < o_=._ ml l_ﬂ_n
il oo Th 1!
o m 8o i} = i
il — 9
= R o r o
il 0 T i 0
= kK- & Kk Y ol B0
© o oo A0 =
- [
oF Hr X K T B0 ﬂ_/l
= m < w5 — o
= of E of = N =
AT < A - K X
ok a5 < 0
i R O B = M
| x ol X o 1 —
z A =Mz g al Rl
or m_h._.ﬁ oF o7 A OF g Wu E
E_ jo A gr ol .__U_o ar ~ _u_lh. ~N =1
AT o B o o B omp NoE T
oy = oy s K o =
M@ Y e v oI O < M v @




L ChEar €2 8= ¢

>
Ot
rir
oz
>
rlo

= 9|8 &2 L ojoiL] @iztol |
2mo| TSN FAE ojojLolA7| WOt [
SE2Ch Jh S0 THHS Hof %

=
—
g W2sto] RIZE MY £E2

LY Ol L= LIERISH B8-S HIX|4 2O|Ct X|5 W7t MA Q=2 BotE 2l
Of & 3ACH RS WEEH H2 /s OIES 712X Mo| ~FeS
‘OFE| & Lto| O{I{ O &0 A AICHH HOFL} ZOFSHAIFY =0 =
Yoz YOISO[X| & A XA E2| Wss oA ohdd siilstal Lol oL

M £X| G B2 10

LS T

of

Mo
o
fim}

2sd Hetli=ol SAESOA st MAXN 2[E7F &[7] flsi= g M-S 705t 4F At=| 2350
=Ho 2 HOotL SAtstzl o] FLIO[OfHZ eIFE MEY & A= MAA X =Ate| 7|28 HZO|Ct

= 1 [}
(AEHY 0|2 : OfB{L], 2B : 3AH, 27| : 12, SAA : =44)
47U OfD{LIE LIS Sfef BAS HEXIA EO|CH £E2 29| 01X R O|SHAIL.

5. 0{HLE "mam"S 2 HIRY| 3FA| 2.




